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Microwave Engg

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 6  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.

P.T.O

1621605E NT6031 NT6031

8.
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OR

OR

Explain apple gate diagram of klystron. Also write 

its performance characteristics.

its working principle. 

Explain the principle of MASER and write its 

applications.

 

MASER 

detail.
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        

P.T.O

NT6031NT6031

Which of the following statement is correct 

for co-axial line.

(a) It is a board band device  

(b) Its dominant mode is TM mode. 01

(c) It operates upto 1MHz frequency  

(d) None of these

Which of the following tee has four ports.

(a) E-plane  

(b) H-plane 

(c) E-H plane

(d) All of the above 

Write advantages and disadvantages of rectangular 
waveguide.

OR

Answer all Five Questions. 
6 x 5 = 30

Explain the operation of 8-cavity magnetron.

6

7.
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(iii)

(iii)

(iv)

(ii)

Directional couplers are........

(a) Unidirectional   

(b) Bi-directional 

(c) Unidirectional or bi-directional 

(d) None of these

Which of the following is correct statement 

for attenuator.

(a) It is used for reducing input power  

(b) It is used for increasing input power

(c) It provides isolation between instruments

(d) Both (a) and (c)

NT6031 NT6031

Explain how tunnel diode is used in oscillator.

 

Explain H-plate tee junction 

H-

(a) Group velocity

(b) Guide wavelength 

OR

OR

5.

4

4

6.



4131621605E 1621605E

P.T.O

(v)

(v)

(vi)

(iv)

Horn antenna is typically used at 
(a) 100Hz 
(b) 10KHz
(c) 10MHz
(d) 1GHz

Klystron can be used............
(a) As oscillator only 
(b) As amplifier only
(c) Either as oscillator or amplifier 
(d) None of these 

                                   OR

4.
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OR

Explain lead inductance effect   

What do you mean by TWT ? Write its applications 

 

 

3.

4                     

4                     
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Which of the following device is based on 

velocity modulation  

(a) Klystron 

(b) Reflex klystron

(c) TWT

(d) Both (a) and (b)

Which of the following device has no grid .  

(a) Magnetron  

(b) Klystron 

(c) Reflex klystron 

(d) Both (b) and (c)

(vii)

(vii)

(viii)

(vi)

Answer all Five Questions. 

2.
4

4 x 5 = 20

What is microwave tube ? Write its different types.

(xx)

NT6031 NT6031
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Which of the following device requires no 
cavity  
(a) Klystron  
(b) Reflex klystron
(c) Magnetron 
(d) TWT

Which of the following statement is correct 
for, Gunn diode 
(a) It shows negative resistance  
(b) It is made from silicon 
(c) It is high noise device 
(d) All of the above 

Impedance at microwave frequencies can be 

measured by 

(a) Slotted line    

(b) Reflectometer 

(c) Both (a) and (b)

(d) None of these

Which of the following is microwave frequency 

range 

(a) 300 MHz to 300 GHz 

(b) 300 KHz to 300 MHz

(c) 300 Hz to 300 KHz 

(d) 100 MHz to 300 MHz

(ix)

(ix)

(x)

(viii)(xviii)

(xix)

(xx)

(xix)
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Which of the following represent guide 
wavength  

(a) 2p/b

(b)  b

(c) b/2p

(d) 2pb

A VSWR meter is.............voltage amplifier 
(a) High-gain and low-noise  
(b) Low-gain and high-noise 
(c) Low-gain and low-noise 
(d) High-gain and high-noise 

Which of the following device has heavily 
doped p-n junction.  
(a) Tunnel diode  
(b) Varator diode 
(c) Gunn diode 
(d) None of these

Which of the following diode is always 
reverse biased  
(a) Varactor diode  
(b) Tunnel diode 
(c) Gunn diode 
(d) None of these

(xvii)

(xvii)

(xviii)

(xvi)

(xi)

(xi)

(xii)

(x)
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Which of the following is avalanche transit 

time device  

(a) IMPATT diode  

(b) Gunn diode 

(c) Varactor diode 

(d) Tunnel doiode 

Material used for MASER is....................

(a) Ammonia   

(b) Ruby

(c) Ammonia or ruby 

(d) Silicon 

MASER

Wave guide is made from............

(a) Brass 

(b) Wood

(c) Plastic 

(d) Glass

Which of the following mode does not exist 

in wave guide 

(a) TE- mode 

(b) TM-mode 

(c) TEM- mode 

(d) None of these 

(xiii)

(xiii)

(xiv)

(xii)

(xv)

(xv)

(xvi)

(xiv)
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10.

66

Vp=
C

2
1-(l /l )o c

waveguide.

Where symbolys have their usual meanings.

help of its constructional diagram.

171621605E
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OR

10.

66

waveguide.

Where symbolys have their usual meanings.

help of its constructional diagram.

Vp=
C

21-(l /l )o c

Vp=
C

2
1-(l /l )o c

Vp=
C

21-(l /l )o c
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measurement.

Explain the dominant mode for circular waveguide.

following.

(i) Maxwell's equation

(ii) Tunnel diode

(iii) Wave impedance of circular waveguide 

 

OR

OR

***

6

11.

18 1621605ENT6031

measurement.
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OR
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